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STAT 1450, Quiz #7, Fall 2013 Name N /C

Instructions: §

confidence intervals rather than doing them by hand, show what
results after p
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How many cars must be randomly selected and tested in orde

show all work. If you use your calculator to conduct the hypothesis tests or find

your Test screen looks like, and the
ressing calculate, along with your interpretation. '

' to estimate the mean breaking
ce of registered cars in the United States? We want 99% confidence that the sample

s within 2 feet of the population mean, and the population standard deviation is known

— = 9.225.

L of the Atkins weight loss program, 40 individuals participated in a randomized trial with
ght adults. After 12 months, the mean weight loss was found to be 2.1 Ibs. with a

d deviation of 4.8 Ibs. Construct a 95% confidence interval to estimate the mean of all
ght adults who follow the Atkins program. What can you conclude from this confidence
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tatement “That majority of college students have credit cards”, write down the null

5is and the alternative hypothesis.

>, S




